
 1 

  

 
 

 
 
 

 
 

 
  

 
 
Parts List 

 
 

 

Assembly Diagram (A) 
 

 
 

Qty. Part # Description 
4  5/16” x 1” Sheet Metal Bolt 
2  5/16” Hex Nut 
2  5/16” x 1” Hex Bolt 
2  5/16” Lock Washer 
6  5/16” Flat Washer 
4  3/8” x 1 1/4” Button Head Bolt 
1 120R Step Bracket 
1 120L Step Bracket 
1  Step Tube 

Installation Instructions                                                                                           
Rhino!  UniversalStep Part Number 120 B, C & PS 

 
 
 



2 
 

All applications attach to the body and drilling is required. Vehicles not listed have no application. 

 

 
CHEVROLET 

92-99 BLAZER, TAHOE 2DR 2/4WD 
00-06 TAHOE 4DR 2/4WD 
95-99 TAHOE 4DR 2/4WD 
00-06 SUBURBAN 1500 4DR 2/4WD 
92-99 SUBURBAN 4DR 2/4WD 
99-06 SILVERADO (07 CLASSIC) REG CAB P/U 2/4WD 
00-06 SILVERADO (07 CLASSIC) 4DR EXT CAB P/U 2/4WD 
04-06 SILVERADO (07 CLASSIC) 1500 4DR CREW CAB P/U 2/4WD 
01-06 SILVERADO (07 CLASSIC) 1500HD 4DR CREW CAB P/U 2/4WD 
01-06 SILVERADO (07 CLASSIC) 2500HD, 3500 REG CAB P/U 2/4WD 
01-06 SILVERADO (07 CLASSIC) 2500HD, 3500 4DR EXT CAB P/U 2/4WD 
01-06 SILVERADO (07 CLASSIC) 2500HD, 3500 4DR CREW CAB P/U 2/4WD 
88-99 REG CAB P/U 2/4WD 
88-99 2DR EXT CAB P/U 2/4WD 

 

 
GMC 

95-99 YUKON 2DR 4WD  
00-06 YUKON 4DR 2/4WD 
95-99 YUKON 4DR 2/4WD 
00-06 YUKON XL 1500 4DR 2/4WD 
99-06 SIERRA (07 CLASSIC) REG CAB P/U 2/4WD 
00-06 SIERRA (07 CLASSIC) 4DR EXT CAB P/U 2/4WD 
04-06 SIERRA (07 CLASSIC) 1500 4DR CREW CAB P/U 2/4WD 
01-06 SIERRA (07 CLASSIC) 1500HD 4DR CREW CAB P/U 2/4WD 
01-06 SIERRA (07 CLASSIC) 2500HD, 3500 REG CAB P/U 2/4WD 
01-06 SIERRA (07 CLASSIC) 2500HD, 3500 4DR EXT CAB P/U 2/4WD 
01-06 SIERRA (07 CLASSIC) 2500HD, 3500 4DR CREW CAB P/U 2/4WD 
88-99 REG CAB P/U 2/4WD 
88-99 2DR EXT CAB P/U 2/4WD 

 

 
 

Installation Diagram (B) 

 
 



3 
 

 
 
 
DODGE 

98-01 RAM 1500 4DR QUAD CAB P/U 2/4WD 
98-02 RAM 2500/3500 4DR QUAD CAB P/U 2/4WD 

 

 
FORD 

04-08 F-150 REG CAB P/U 2/4WD 
2004 F-150/F-250 LD HERITAGE (OLD BODY STYLE) REG CAB P/U 2/4WD 
97-03 F-150/F-250 LD REG CAB P/U 2/4WD 
04-08 F-150 SUPER CAB P/U 2/4WD 
2004 F-150/F-250 LD HERITAGE (OLD BODY STYLE) 4DR SUPER CAB P/U 2/4WD 
99-03 F-150/F-250 LD 4DR SUPER CAB P/U 2/4WD 
04-08 F-150 SUPER CREW P/U 2/4WD 
01-03 F-150 4DR SUPER CREW P/U 2/4WD 
99-13 F-250/F-350 SUPER DUTY 4DR SUPER CAB P/U 2/4WD 
99-13 F-250/F-350 SUPER DUTY 4DR CREW CAB P/U 2/4WD 

 

 

Installation Diagram (C) 
 

 
 

Verify that all of the parts listed are accounted for. If you have defective, missing or damaged parts or need 
assistance, please contact Go Rhino Products for fast, friendly customer service at: 1-888-427-4466 or email: 
warranty@gorhino.com 

 


	Installation Instructions                                                                                           Rhino!  UniversalStep Part Number 120 B, C & PS

